| CD home
Tube clamps

Tube clamps series A (Light construction series) — Components

DIN 3015, part 1 @ ‘
S s Lo
A N~ :
Order code for clamp halves: size 0 size 0 size 0 size 0
Polypropylene — RAP | |
Inside smooth — RAPG o ! ‘
Polyamide 6 — RAN S S O ©F
Inside smooth — RANG /
Rubber - RAVG
Aluminium  — RAA') size 1-6 size 1-6 size 1-6 size 1-6
(Please exchange as required standard abbreviation Width: 30 mm Thickness:
RAP in column for “clamp halves”) 3 mm
1 part welding plate, short
clamp size Tube O.D. mm Tube NB Tube O.D. 2 clamp halves
RAP... dimensions: APKA... dimensions:
a Order code b ¢ d e Order code d e
6 RAP006X
6.4 a RAP006.4X
8 %6 RAP008X
0 95 ¥, RAP009.5X 28 27 13.5 APKAO0OX 30
10 G's RAPO010X
12 RAP012X
6 RAP106X
6.4 a RAP106.4X
8 %6 RAP108X
1 95 ¥, RAP109.5X 34 27 20 13.5 APKA1X 20 36
10 G RAP110X
12 RAP112X
12.7 2 RAP212.7X
13.5 G, RAP213.5X
14 RAP214X
2 15 RAP215X 40 33 26 16.5 APKA2X 26 42
16 e RAP216X
17.2 G RAP217.2X
18 RAP218X
19 % RAP319X
20 RAP320X
21.3 G'> RAP321.3X
3 20 RAP322X 48 35 33 175 APKA3X 33 50
23 RAP323X
25 1 RAP325X
26.9 G4 RAP426.9X
4 28 RAP428X 57 42 40 21 APKA4X 40 59
30 RAP430X
32 1Y, RAP532X
33.7 G1 RAP533.7X
35 RAP535X
5 38 17, RAP538X 70 58 52 29 APKA5X 52 72
40 RAP540X
42 G1Y, RAP542X
44.5 18/, RAP644.5X
45 RAP645X
48 G1'/, RAP648X
6 50 RAP650X 86 66 66 33 APKA6X 66 88
50.8 2 RAP650.8X
52 RAP652X
55 RAP655X
57 2, RAP657X

When assemblying solid rubber clamps, covering plates, hexagon screws and locking washers must be used. All metal parts available in stainless steel.
") Aluminium only sizes 1 to 6.

m S8 Catalogue 4100-5/UK




| CD home
(E0)

Tube clamps

Tube clamps series A (Light construction series) — Components

DIN 3015, part 1

30

& T © =,
size 0 size 0 | | |
I - 1 - | -
! ! H |
‘ ‘ H ;
—@7'@78 —Jd]— o Jdl— —Jd—
> L]
‘
size 1-6 size 1-6 DIN 84 DIN 931/933 DIN912
Thickness: 3 mm
clamp cover plate slot head hexagon head socket head
S1ZE DPA... dimensions: SLA... dimensions: SSLA... dimensions: ISA... dimensions:
Order code b d Order code dxL Order code dxL Order code dxL
0 DPAOX - - SLAOX M6 x 20 SSL10X M6 x 30 ISAOX M 6 x 20
1 DPA1X 34 20 SLA1X M 6 x 20 SSL10X M6 x 30 ISA1X M 6 x 20
2 DPA2X 40 26 SLA2X M6 x 25 SSLA2/SSB1X | M6x35 ISA2X M6 x 25
3 DPA3X 48 33 SLA3X M 6 x 30 SSLA3X M 6 x 40 ISA3X M 6 x 30
4 DPA4X 57 40 SLA4X M 6 x 35 SSLA4X M 6 x 45 ISA4X M 6 x 35
5 DPA5X 70 52 SLA5X M 6 x 50 SSLA5X M 6 x 60 ISA5X M 6 x 50
6 DPA6X 86 66 SLA6X M 6 x 60 SSLAG6X M6 x70 ISA6X M 6 x 60
All metal parts available in stainless steel.
S11 Catalogue 4100-5/UK



